
෍ 2𝑘

ସ

௞ୀଵ

= ?

𝑭𝒊𝒏𝒅 𝒕𝒉𝒆 𝒔𝒖𝒎 𝒐𝒇 𝒕𝒉𝒆 𝒕𝒆𝒓𝒎𝒔

෍ 8(
1

2
⎯⎯)௞ିଵ

଺

௞ୀଶ

= ?

_______,   _______,  _______,  _______,

_______,   _______,  ______,  ______,  _______,

k=1              k=2             k=3            k=4

2𝑘 =
2(1) =
2

k=2              k=3             k=4         k=5          k=6

3(
1

2
⎯⎯)௞ିଵ =

8 ൬
1

2
⎯⎯൰

ଶିଵ

=

4

4 + 2 + 1 +
1

2
⎯⎯+

1

4
⎯⎯= 7.75

Arithmetic

Geometric

Steps
Put in 𝑘 = bottom number the equation
Put in 𝑘 + 1 (bottom # plus 1)
Repeat until 𝑘 = top number

       𝑘      2𝑘

       1       2

       2       4

       3       6

       4       8

Not Always t1

Always r

𝑠ସ = 2 + 4 + 6 + 8 = 20

d 2𝑘 =
2(2) =
4

2𝑘 =
2(3) =
6

2𝑘 =
2(4) =
8

෍ 3(2)௞ିଵ

ஶ

௞ୀଶ

= ?

Infinite Geometric 𝑠ஶ =
𝑡ଵ

1 − 𝑟
⎯⎯⎯⎯⎯

𝑠ஶ =
4

1 − ቀ
1
2⎯⎯ቁ

⎯⎯⎯⎯⎯⎯⎯

𝑠ஶ =
4

1
2⎯⎯
⎯⎯

𝑠ஶ = 4 ×
2

1
⎯⎯

𝑠ஶ = 8

−1 < 𝑟 < 1

−1 <
1

2
⎯⎯ < 1

∴ Convergent, has sum

2                  4                 6                8    

# 𝑜𝑓 𝑡𝑒𝑟𝑚𝑠 = 𝑛 − 𝑘 + 1 
                       = Top # minus Bottom # + 1

෍ 2𝑘

ଵ଴଴

௞ୀଵ

= ?

Arithmetic

𝑠௡ =
𝑛

2
⎯⎯(2𝑡ଵ + (𝑛 − 1)𝑑)𝑠௡ =

𝑛

2
⎯⎯(2𝑡ଵ + (𝑛 − 1)𝑑)

𝑠ଵ଴଴ =
100

2
⎯⎯⎯ (2(2) + (100 − 1)2)

𝑠ଵ଴଴ = 10100

𝑑 = 4 − 2
𝑑 = 2

𝑑 = 6 − 4
𝑑 = 2

𝑛 = 100 − 1 + 1
𝑛 = 100

3(
1

2
⎯⎯)௞ିଵ =

8 ൬
1

2
⎯⎯൰

ଷିଵ

=

2

4                2                  1              
1

2
⎯⎯              

1

4
⎯⎯   

3(
1

2
⎯⎯)௞ିଵ =

8 ൬
1

2
⎯⎯൰

଺ିଵ

=

1

4
⎯⎯

_______,   _______,  ______,  ______,  _______, …
4                2                  1              

1

2
⎯⎯              

1

4
⎯⎯   

𝑠௡ =
𝑡ଵ(1 − 𝑟௡)

1 − 𝑟
⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑠௡ =
𝑡ଵ(1 − 𝑟௡)

1 − 𝑟
⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑠ହ =

4 ቆ1 − ቀ
1
2⎯⎯ቁ

ହ

ቇ

1 − ቀ
1
2⎯⎯ቁ

⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑠ହ = 7.75

𝑛 = 6 − 2 + 1
𝑛 = 5

…

𝑟 =
2

4
⎯⎯

𝑟 =
1

2
⎯⎯

𝑟 =
1

2
⎯⎯
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